Division par 10* (C)

Trouvez chaque quotient.

74+ 10%= 58+ 10%=

3,4 + 10% = 3,6927 = 10 =
8,8 + 102 = 4,761 + 102 =
7,936 ~ 10% = 4,504 =+ 10% =
2,51 +10%= 2,0922 =+ 10% =
5+10%= 59 =+ 10% =
1,23 +~10% = 9,5337 + 10% =
9,122 + 102 = 9,561 + 102 =
2,6 ~10%= 577 +~10% =
8,8+ 10%= 3,7 +~10% =
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Division par 10% (C) Solutions

Trouvez chaque quotient.

7,4 +10%=0,074 5,8 +10%=0,058

3,4 +10°=0,034 3,6927 + 10% = 0,036927
8,8 +~ 10%> = 0,088 4,761 + 10* = 0,04761
7,936 + 10% = 0,07936 4,504 + 10%* = 0,04504
2,51 +10%=0,0251 2,0922 + 10%=0,020922
5+ 10%=0,05 5,9 +~ 10° = 0,059

1,23 +10*= 10,0123 9,5337 = 10% = 0,095337
9,122 + 10%=0,09122 9,561 + 10% = 0,09561
2,6 ~10%=0,026 5,77 + 10* = 0,0577

8,8 +~ 10%>= 0,088 3,7 +10%=0,037
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